Linear systems August 28, 2009

Two variable linear systems Al ? bfA] (K “‘&
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Example: Elimination

/- Multiply the equations by numbers to
make the coefficients of one of the
variables add to 0.
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\/Add the two equations together.
/ Solve for x ory.

- Back substitute to get the value of
the other variable.
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Example 2: \ .
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Example 4:

Two planes start from LAX and fly in opposite directions. The second
plane starts 1/2 hour after the first plane, but its speed is 80 km/h faster. Find
the airspeed of each plane if 2 hours after the first plane departs the planes
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Example 5

A total of $32,000 is invested in two municipal bonds that pay 5.75% and
6.25% simple interest. The investor wants an annual interest income of
1900 fr?m the investments. What amount should be invested in the 5.75%
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